KOHLER O et raias
SERVICE PARTS PAGE
® LT

CABINET
BEE
K-77137T-M

1298124
Top Frame(Light Gray) with Lighting
IR TTAE+AT
1298132

Top Frame(Dark Gray) with Lighting
R TRAE+AT 5

1298096
M6X25 Screw

M6X254Z+F
1298075

Screw M3.5X14 S
1409762 M3.5X14 5 18 22
Plastic Cushion For Drawer
e g 1409754
Drawer Slider
For 300 Soft Close
22 M8 300

1298070
Suspension Bracket

HE®E, RL(&HER RPKEL)

1298074

Expanding Dowel 1298065
BT T A R 2 LED Control
LEDXT =l =%

1409763
White Oak Drawer Panel+Drawer Box (Up)
BiR M mE+HE(L)
1409764
White Drawer Panel+Drawer Box (Up) ——|
WS¢ 5 -+ A ()
1409765
Dark Veneer Drawer Panel+Drawer Box (Up)
BRI ARG HE A L)
1409766
White Oak Drawer Panel+Drawer Box (Down)
BRI E+HhiE(T) Metal Basket for Plastic Basin
1409767 SRS
White Drawer Panel+Drawer Box (Down)
WES¥ 5 E + 8 ()
1409768
Dark Veneer Drawer Panel+Drawer Box (Down)
SRT)ARBIHE+HEH(T) 1409747
U Shape Plastic Cover (Light) 1361949
1298067 . URITE K34 (% IR) 3 L Metal Support
Handle Cover Light Gray Color 1409748 M Lszjeze
RFE(ERE) U Shape Plastic Cover (Dark)
1298085 URSE K (R IR) 1316911
Handle Cover Dark Gray Color Plastic Cushion 370X420mm
FERKE) 1298123 B778 #:370X420mm
White Oak Door Panel
Note: BRIk
Light Gray Parts for SO1 \1/\%)'[281D7 Panel
Light Gray Parts for 0 lte Door Fane
%=1k 1298280
%&%(ZGray Parts for KA1 1298131 Door Hinge Hardware
-SO13E 3% K B B A g;%%’ggg?gm Panel ITRE(ERAF, JREE, KohlerLogoz)
-03% 3% IR 6 BL 4
KA1 R T & B

Color code (-*) or finish (-**) must be specified when ordering.

TTTA R 51 AR & A8 () SR m AL EE ()

1412471-T8-A -



KOHLER.

MODERN LIFE BR3E

SERVICE PARTS PAGE

B F R
CABINET
AREE
K-77138T-M
1298095
Note: Top Frame(Light Gray) with Lighting
Light Gray Parts for SO1 R I TRAE+AT 5
Light Gray Parts for 0 1298105
Dark Gray Parts for KA1 Top Frame(Dark Gray) with Lighting
AR R AT 55
-S013% 1 % k& B i
-0k T % IR e F i
KA1 IR TR 6= B A4
1298096
M6X25 Screw
M6X25424F
1298075 1298070
Screw M3.5X14® Suspension Bracket
M3.5X14 8 18 24 A& B, RL
(R REMKEL)
1409755 1409754 1298074
Plastic Cushion For Drawer ~ Drawer Slider Expanding Dowel
R B 5 For 300 Soft Close S E AR R
ZhHE300 1298065
LED Control

1409756
White Oak Drawer Panel+Drawer Box (Up)
BghE+HE( L)

1409757

White Drawer Panel+Drawer Box (Up)
WESE B T+ (L)

1409758

Dark Veneer Drawer Panel+Drawer Box (Up)
BRI EHE+HE (L)

1409759
White Oak Drawer Panel+Drawer Box (Down)
BB E+HE(T)

1409760

White Drawer Panel+Drawer Box (Down)
T3¢ A E+iE(T)

1409761

Dark Veneer Drawer Panel+Drawer Box (Down)
ERTIARBHE+HBE(T)

LEDXT = =%

>

1317486
Metal Basket for Plastic Basin
SE&E

1409747
U Shape Plastic Cover (Light)
URE KM (% 1))
1409748
1298067 . U Shape Plastic Cover (Dark)
Handle Cover Light Gray Color USRI 7K 3 46 (R IR)
RFZ(CERE) ST
1298085
Handle Cover Dark Gray Color
RFE(RKE)

Color code (-*) or finish (-**) must be specified when ordering.

TTTA R 51 AR & A8 () SR m AL EE ()

1412471-T8-A



KOHLER O et raias
SERVICE PARTS PAGE
® LT

Note:

Light Gray Parts for SO1
Light Gray Parts for 0
Dark Gray Parts for KA1
AR
-SO1E W% Jx & Be 4

-0 I 7% % € BL 1
-KATIE TR R & B 1

1298079 <
Plastic Cover
ARE(RKE)
1298089

Plastic Cover

AH%E(RRE)

1409751

White Oak Drawer Panel+Drawer Box
BRI E+HhiE

1409752

White Drawer Panel+Drawer Box
WG ¢ B 4+

1409753

Dark Veneer Drawer Panel+Drawer Box

TRT) AN & 3 -+ AR

CABINET
AREIE
K-77139T-M
1298062
Top Frame(Light Gray) with Lighting
IR E TAE+AT
1298084
Top Frame(Dark Gray) with Lighting
R E TAE+AT
1298063 1298070 1298074
M6X15 Screw  Suspension Bracket Expanding Dowel
M6X15424F HESM, RL T E K iR 22
1400747 (BEH R BL)
U Shape Plastic Cover (Light) 1298065
URLE K (5 IK) LED Control

1409748
U Shape Plastic Cover (Dark)
UBIE K (R 1K)

LEDKT 4= =&

1409749
Drawer Slide For 250
="18H250

1298067
Handle Cover Light Gray Color 129?075
VFECRRE
iizfs ; ééé% KE) Screw M3.5X14
Handle Cover Dark Gray Color M3.5X14 5 IR 8 22
RFE(RKRE)

1409750

Plastic Cushion For Drawer

R B

Color code (-*) or finish (-**) must be specified when ordering.

1412471-T8-A

TTTA R 51 AR & A8 () SR m AL EE ()



